
 

FIAT 500 ABARTH INDUCTION KIT 
FITTING INSTRUCTIONS 
 
Tools needed: 

• Socket set 

• Trim tool 

• Drill 

• 70mm Hole saw 
 

Kit Includes: 

• Alloy induction pipe ‘inc bracket, M6 x 16, M6 x 10 bolt & 2 x washers’ 

• Alloy intake scoop ‘bolts, washers and nuts supplied’  

• Pro hose silicon hose ‘includes 2 x 40mm jubilee clips’ 

• AIRTEC Motorsport foam filter ‘includes 1 x 80mm Jubilee clip’ 
 
 

 
 

 
 
 



 

Instructions: 
 

1. Open the bonnet and secure, then 
loosen x2 jubilee clips and remove. If you have ‘use once’ clip then 
remove by twisting screwdriver as will be replaced by jubilee clips inside 
of kit. 
 

 
 

 
 
 
 

2. Now remove 10mm bolt securing filter down and lift off stock filter by 
pulling up releasing rubber mounts holding filter down from underneath. 
 

 
 
 
 
 
 
 
 
 
 



 

3. Once the filter has been removed, you can start removing the scuttle 
panel. Start by removing x2 plastic covers as shown in picture below 
underneath these you will find 
the caps covering the 
13mm nuts which will be 
securing windscreen 
wipers. You will need to 
remove these to remove the 
scuttle panel. 

 
 
 
 
 
 
 
 
 
 

  
4. Now remove x3 plastic clips 

located across the top 
of the scuttle panel. 

 
 
 
 
 
 
 
 
 
 

5. You can now lift the scuttle 
panel off and disconnect 
the washer jets from the 
scuttle panel to remove. 

 
 
 
 



 

 
 
 
 
 
 
 

 
6. Once scuttle panel has been removed you can locate where the scoop 

will be fixed for your intake. Fix in place by using hardware supplied 2 x 
M5 x 12 button head bolts, 4 x washers and 2 x Nyloc nuts (no drilling is 
required). 

 

7. Now you will need to cut a hole in the lower scuttle for the airflow from 
the scoop to reach the induction kit. We suggest using a 70mm hole saw 
for this to provide maximum airflow.  

 
 

 
 
 
 
 
 
 
 

8. You can now fit the Airtec 
pipework and tighten jubilee 
clip, once secured 
connect the supplied silicon 
hose to the induction kit.  



 

  

 
 
 

9. Now secure the intake pipe into 
the engine bay by using supplied bracket and fixings. Start by installing 
the M6 x 16 bolt and washer to secure the bracket into the engine bay 
then use M6 x 10 bolt and washer to attach the bracket to the pipework 
as shown below. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

10.  You can now install your Airtec motorsport air filter to complete your 
induction kit. Simply slide your new filter on and tighten jubilee clip 
using 7mm socket or flat bladed screw driver.  

 
11. Now reinstall your upper scuttle and re-attach windscreen wipers in 

reverse order of installation. Check everything has been tighten correctly 
and enjoy! 


